104F#RB %7 FHEFN A ﬁ%%@'%%ﬁ{{
3% ($2%) 28 (2) 2%

nZxK
- @ FO)=1(f(x), fO)=f(f(--f(X)-) e
¢ drs f(X)=7x+6 » £3: 5ol B m s fC9m) 4 2015 &% o

[%5i%% ]
fAMX) = f(f(X)=f(7x+6)=72x+6(7+1)
fOX) = f(f(f(x)=7>x+6(7"+7+1)

fOX)=7"X+6(7""+---+7+)=7"(x+1) -1

F% 2015=5x13x31 & 75§, 4frr, H AR R 4 v s T
7%°u-2015v =1
Casel.u>1
B m=u-1>0, #7r
f9(m) =7""(m+1) -1=7""u -1=2015v
FE9(m) 4 2015 4 -
Case2.u=1
B m=7"-1>0, #rm
f (200 (m) = 7100(m +1)-1= 7100 7100 _q _ (7100 +1)(7100 ~1)
Fi ou=1, #rrz 77°°-2015v=1, f*m)=(7""+1)(2015v)
FE9(m) 4 2015 4 -
Case3.u<0
B m=(7""-1)(-u)>0, *#fi

f A9 (m) =7"(m+1) -1=7"[(7**° - 1)(-u) +1] -1
— (7100 _1) [7100(_u) + 1]
F]5 7%u-2015v=1, #ir2 7%(-u)+1=-2015v,

f 90 (m) = (7*°° —1)(—2015v)
FO9(m) 4 2015 £ -



Z ~%neN S, _Z[Iogzk]

o X e )

(%312 %]
2"1
S, [log, k] = kaZk

k=2

=2°-1=255, S =1538

i@ 7S, 22015 = = ehge ] niE o (FEL[X] 5 7

=2°-1=511, S, =1538+8x2° > 2015

F]pt 1538 + 8x > 2015 > x =60

n=255+60=315

Z~@Pd 1120027 =2 101 BAp R A, %5 3 BEchL 23010

(%4525

#-1 2 200 hie 200 B # i 10 2 s e B e
P~ 101 B £ %5 FleamP1 b 1] Bk

Kizke é“ﬁ%'l 10 4k

He 1< k=<10-
s 20 B A 3 10 B e

{kk+ 10}, {k+20k+30), {k+40k+ 50}, {k+ 60k+ 70},
{k+80,k+90}, {k+100,k+ 110}, {k+ 120,k+ 130},

{k+ 140,k + 150}, {k+ 160,k + 170}, {k+ 180,k + 190}
GETRETSNE S NI RV R S T

A g 230100



> _ l6x* +8x% 19
r 2 Xx>0 0 f()():4X 16X2+8x +9+3’.~1‘»f(x)z’v’vigii‘6;;fa?
X
[%42%]

f(X)=ZX+i—1/4x2+i2+2
2X 4x
2 9 2 9
4K +—5+6+ [4X" +—+2 |- f(X) =4
4x 4x

=2(\3-4/2)

4
<2 BD

f(x)z\/4x2 +4i2+6+\/4x2+4i2+2 >0
X X

01 g 5 (0,243 -42)]



